TR KELLICE T HERRE (AR ORRER)

-

R BR.AER

B AR R0E Z{ER o ERiE

B B & 5 180A0172

& T £ EK

il = i —BHTERETTERF LEE

B ' O BAEFEERLERERTAH—EALARtEL 44—

R

E(S=1:200,000)




SREHMM DR KRR HAZE

BHAI—1 BEOEENOHLLH ELVBEDSENDHLLDEFR | REEE \ 26/

BREMH ONE| BHES 18040172 ] Mk |

. bi
A T
[CJ 2L a2062h0h3 0K
BEOBZNOHZ LR
[ tesosmsmmeazsEm
[ +BZ 0580 AM100kN/mERBZ 3 5E
—— R

0510 20 30 40 50
N TN MmN

iy

b
=



AER O BRIk X G E

HR3—2 BEWICERT HLBESNHEHECET HERA/1) ) ) REEE | PR
2EFtOaE | EpES | 18040172 [ B4 | T K | PRTEH | AT RATER T EA
] SMER O TimICHET 51 SERIMA
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7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 460 57.32 | EnRS | 000 ~ 4.60| 1.88 10.05 ThLst 1.00 | 5.00 ~ 56.00 57.32 | #hH | 5,00 ~ 6.00| 1.88 10.05
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.64 8378 | =nus | 0oo ~ 664 1.79 9.66 FnLsn 1.00 | 5.00 ~ 800 83.78 | #hLst | 5,00 ~ 800 1.79 9.56
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 000 ~ 755 96.61 | NS | 000 ~ 7.55| 2.24 11.97 ThList 1.00 | 5.00 ~ 10.00 96.61 | =hLH | 5,00 ~ 1000)| 2.24 11.97
4 100kN/m%x#8z5 | 1.00 | 000 ~ 035 10518 |3mZz#zZ3| — ~ — — — | 100kN/M%&#82% | 1.00 | 10.79 ~ 11.83| 105.18 |3m&E#BZ% - ~ — — —
st 1.00 | 035 ~ 814 100.00 | =hdst | 0oo ~ 814 | 208 11.14 st 1.00 | 5.00 ~ 10.79 100.00 | =nst | 6,00 ~ 11.83| 2.08 11.14
5 100kN/m%x#8z% | 1.00 | 000 ~ 1.20| 11806 |3mZz#Ez3| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1080 ~ 1450 118.06 |3mEEZS - ~ — — —
st 1.00 | 1.20 ~ 898 100.00 | #nst | 000 ~ 898 | 2.31 12.35 ThList 1.00 | 5.00 ~ 1080 100.00 | =hbst | 6.00 ~ 1450 2.31 12.35
P 100kN/m%z#8z5 | 1.00 | 000 ~ 1.09| 11643 |3mZx#z3| — ~ — — — | 100kN/ %825 | 1.00 | 10.76 ~ 1407| 116,43 |3mE#BZ% - ~ — — —
zhLst 1.00 | 1.09 ~ 888 100.00 | #hst | 000 ~ 888|230 12.30 FnLsn 1.00 | 6.00 ~ 10.76 100.00 | 0S| 6.00 ~ 14.07| 2.30 12.30
7 100kN/m%z#Z25| 100|000 ~ 060 10887 |3m&EEZBl — ~ — — — | 100kN/m%E#z25 | 1.00 | 11.22 ~ 1330 108.87 |3m&EEZ5 - ~ — — —
ThLlst 1.00 060 ~ 838\ 100.00| FhLs | 000 ~ 838 2.02 10.83 TnList 100 5600 ~ 1122 100.00| ThLS | 5,00 ~ 1330 2.02 10.83
P 100kN/m%Z#Bz25% | 1.00 | 000 ~ 040 10596 |3mxBz2B| — ~ — — — | 100kN/m%E#BZ2% | 1.00 | 11.77 ~ 13.28| 105.96 |3mE#BZ3 - ~ — — —
ThLlst 100040 ~ 819\ 100.00| FhLs |0o0o ~ 819| 1.98 10.69 TnList 100 5600 ~ 1177 100.00 | ThLS | 5,00 ~ 1328 1.98 10.59
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
Thsn — -~ = — | =hust -~ = — — Zzhust — - ~ — — | #hust — ~ — — —
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
ThLlst — -~ = —| #nLst -~ = — — Zzhust — - ~ — — | Zhst - ~ — — —
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FHEZ 5 - ~ — — —
Thsn — -~ = — | Zhest -~ = — — Zzhust — - ~ — — | #hst — ~ — — —
19 100kN/MZ#8Z % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8 %% — - ~ — — |3m#%EEZ 5 - ~ — — —
ThLlst 1.00 | 000 ~ 7.76 99.568 | =St | 000 ~ 7.76 | 1.73 9.24 ZnList 1.00 | 6.00 ~ 1052 99.58 | FhLst | 5,00 ~ 1052| 1.73 9.24
13 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8 %% — el — — |3m#%FHEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 4.52 56.43 | =nst | 0.oo ~ 000\ 1.567 8.38 ZhLst 1.00 | 6.00 ~ 5.00 56.43 | TnLS | 5,00 ~ 500\ 1.67 838
100kN/ Mm% A5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




